Norne:  naw) Gl

© I ‘e -Ro\ure. belows mome o\ Sesmm‘rs Kew v AS,

I
| 'D
B -/
- B F

@ What 15 the sim dF the angles o comvex heptogpa?

' @ \N\\o'\' s the measwe of e extenor tmsle \Q\
0 Convex regqular oc\-agoﬂ?

@ Sone for X mihe d\o.scam S0 belowd:

(4x+10) (ax + Uﬂo



® Tn e duaarem showa  shat £ anaes
oe X\ A% z:.':-;".":'m A‘“xo J

« ¥ .- S alb

¢ >%

@ Os\ns e dvooram  Qoove n:\a,a =84° 4 nxd: X +\D,
WAEH 1S 4ne” yalue of “x© ?

@ Convert 42 1B 3O wvo  decwnol focen.

Gwen this 15 o Circle wdhn
dne centrer o A. Find e
\enaiin of Arc Mn,



e T T e s YL

S T AT el e SR ek TRt e S B i el o e

@ p\f\d m&ﬂ O '“'E ‘Gsu(e u\og,)‘
o c

Guen: alo « :\7. k\o

o
cuhad 3\4 1 \\2 *
Bove: 22 =218 5\b 2\




e e T e e NS

@ Shre Wy eodh par of drongles ore c.onsrum* ,
TL oot congum‘r Soy “ NOT Co RUENT®

& D

” N b)
C
Vs

B
c)
e)

@ Guen 0RLD s o pofa\\e\ogqm Lnd an B

>
| Yi
3x+235
D




R

@ G.\S.QD.&'BE»

o

"“\& T A?oﬁ\"'

ac

<o

Tove:. 2% ABD =4 CBD

1




T s ST T SRR TR TR R ATTTAER S A TR R NN T Ca Rl N i A R SRR o B Wl e

AT e B AR

©® For eoch shotement say TRUE o FALSE

o) A\ rtc*cmis\es e s%uo(es

B) The 6\0331\0\5 of a Wite oce perpendicular
A AN fowr =des of @ rthorbous ove cmgum'\' ——

3d) Oﬂnsr}c swdes of 0 ¥ite ore W\S‘ueﬁ'\'

e\ Tro?czn\ds m\\l oNe one Pow J Pom‘t\ s\des

Y| 'D\osono\s ot a rec\-ons\e. bisect each cher

S\ D\osmq\s of o poco.\\e\osram sect dhe ans\es

h) Consecstwe anales of o 3qpose ofe sp.w\emen'\u\‘ —

V) 'D\osmo\s of o rhombus are cuxafuex\'\'

:)3 Al sdes of on \sosceles "rweezo\d ase cmsvom\-

K) Linear onges ore suppleentary

Q —Pet?u\d\cu\nf \\es do NOT  wlersect




@ Whot ' tre pecwaetes of e ve.c:\rons\e. Shown 4

)

el

A4 en

@ Wret dype of “range do M s\des B, 10m, \Sm

moke 7 (ex plown)

‘ = Q Sowe for %x:  (Round +o one decvmal)
™

® Find oteo. of he 'Rgu\’e. belowd

5. 2m om



@ Find e orea  of “he -Gsuﬂ'. Se\ows:

- I

P T Y f Ty TP B I [P S WP G PN .

Y ———

7/‘“1\1\ N‘
1 h
Hom

@ Find Volume ofr (O

B

G Find Surfoce Area of:

opothem = B

heght = 14m PRI

-1""‘--



@3 Wnat s the distorce  betuween ﬂ(a.-\,53
ond B (-3,4 0) 2

@ TIFf you reflect Pmﬂ‘r A(-3,2) over “he
\-O0¥1S  ond dhnen transiole  Ahe new powt
ok 5 gad dowsn B whaak oce Ane
Codrdwotes of Ane final pont 7

@ I+ you refleck v B (-\,-5) over
e \ne \ =X m\r Ahen dilote e
e pownk T USINg O Scale Lockor of 2 ghat
ore tne coor h s of e ol ?o\n'\' 2



